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Day 1 Relations and Functions 

IA relation Is a set of ordered paIrs.l 

What is an example of an ordered pair? 

A Function Is a relation In which no two ordered pairs 
have the same first element. 

Oct 12 -3:38 PM 

Sketch; ,y. • 2x + 3 	Is this a function? 

Domain: Is the set of all first elements. ( x-values) 

Range: Is the set of all second elements. (y-values) 

....1110.11,%■■■■• 

Oct 12-3:47 PM 

Are the following.functIona? Find the domain. and range, 

a) (2,4)(U)'(4,6) (5,7) 

lb) (2,1) (2,2) (2,3) (2,4) 

z) (3,2) (4,2) (5,2) (8,2) 

   

   

   

   

   

   

IlISM.111■01.42, 

Oct 12-3:55 PM 

 

g 

  



f I 
IS this grapfly • It ,.c a fuctIn?.. 

I 	 
Vertical line test  If a vertica ( 
Ilne Intersects a graph of a 
relation In two or more points, 
the relation Is not a function 

The graph of a relation is shown at the right. 

Determine whether or not the graph repre- 
sents a function. 

b. Find the domain of the graph. 

c. Find the range of the graph. 

'0 

Oct 12-4:17 PM 

Oct 12-4:11 PM 

Find the largest domain of each function: 

U. y = 	 A7rzli71 

Oct 12-4:30 PM 

Day 1 functions.notebook Ja.ily 07, 2010 
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Oct 12-4:34 PM 

8 . y 
3 
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Name: 
Day 1 Classwork/Homework 

1) Which graph of a relation is not a function? 

2) For the graph of the relation below, 
(a) state the domain. 
(b) state the range. 
(c) state whether or not the relation is a function. 

[Justify your answer.] 
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-.I- - I- - I - - f -- , 	, 	, 	. 
-- 1 -- 1 -- 1-- 1 -- i 
-2--j--j--j-- i 
..1..1..L..L..: 

	

3) 	The function f(x) = 1 is defined for all real 

numbers except when x is 

A) -3 	 C) 0 

B) 3 	 D) -5 

	

4) 	For the graph of the relation below, 
(a) state the domain. 
(b) state the range. 
(c) state whether or not the relation is a function. 

[Justify your answer.] 

YA 

--4 
--4 

2.4-- 	-4 --4-- 

X 
2 3 4 5• 

1 - 	-1--1-- 
..J...,. 
J. J .J..1..i 

	

5) 	Given the relation R= {(-2,3), (a,4), (1,9), (0,7)}, 
which replacement for a makes this relation a 
function? 

A) 1 	 C) 0 
B) -2 	 D) 4 

	

6) 	Which relation is not a function? 
A) {(1,4), (3,8), (5,16)) 
B) {(1,1), (1,2), (1,3)) 
C) {(1,1), (2,2), (3,3)) 
D) {(1,1), (2,1), (3,1)) 

8 



C) g  

D) all of the above 

C) 

D) 

3797 - 1 - Page 2 
10) Which graph of a relation is also a function? 7) 	Which graph of a relation is also a function? 

8) What values ofx which would cause the relation 
{(2,7), (4,8), (x,3), (5,6)} not to be a function? 

9) Is this relation a function? [Justify your answer.] 

{(1,2), (5,8), (3,4), (6,3)) 



11) Which graph of a relation is not a function? 

D) 

3797 - 1 - Page 3 

12) The relation defined by the set of ordered pairs 
{(0,2), (-2,2), (1,4), (0,-1)} is not a function. 
Which of the ordered pairs listed below, if omitted 
from this relation, will make the resulting set a 
function. 

A) (1,4) 	 C) (0,-1) 
B) (-2,2) 	 D) (4,1) 

13) Is this relation a function? [Justify your answer.] 

{(-4,2), (-4,1), (-4,0), (-4,-1)) 

14) Which graph of a relation is also a function? 

B) 

D) all of the above 

8- 7 
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Day 2 
Function Notation 

= 2.v + 3 	 The Inimical value paired with x is 2.v + 3. 

f(k)7tettilabes y = 

Oct 13-2:16 PM 

It.t.(x)..F 2x +_3,=evaluate..thalollowing: 	 . 
^ • -a 	 _ • - ^ -¢ C 

kf.(74) 	 b1.0 + 11_ _ 

a) 	 ) 	 c!)..f(c2) 

Oct 13-2:19 PM 

Let f he the set of ordered pairs such that the second element of each pair is I 
more than twice the first. 

a) Write f(x) in terms of 

Find 1(7). b 

. 	 . 

Oct 13-2:22 PM 8 .8 
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Oct 13-2:25 PM 

5. 'rho graph of the function is shown nt 
tho right. 

Find: 

u. 1121 

b. It —5) 

e. 11-2) 

d. 1(3}) 

Oct 13-2:37 PM 

Oct 13-2:57 PM 

I-et f(x) be defined by the graph above. If 
f( —4) f(2) = f(k). then k is equal to 

(A) —3 	(B) —1 	(C) 0 

(13) 1 	 (E) 3 
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Name: 
Day 2 Classwork/Homework 

	

1) 	Given the function f(x) = (x + 1)2, find the value of 
f(-2). 

	

2) 	Given the function g(x) = x 2  - 2x + 1, find the value 
of g(-1). 

	

3 ) 	If g(x) = x4, find g(4). 

	

4) 	If f(x) = x4, find g9). 

1 n 

	

5) 	If f(x) = ich, what does f(2) - f(-2) equal? 

A) -2 	 C) 0 
B) 2 	 D) 1 

	

6) 	Given the function g(x) = x 2  - 2x + 1, find the value 
of g(1).  

	

7) 	If f(x) = 1x 3  - 31, then g-i) is equivalent to 

A) -2 	 C) 2 
B) 4 	 D) 0 

	

8) 	Given the function f(x) = 3x - 2, find the value 
of f(0). 

	

9) 	If f(x) = x 2  + 3x - 5, find the value of f(3). 

10) Given the function f(x) = 3x - 2, find the value 
off(-1). 

11) Given the function g(x) = x 2  - 2x + 1, find the value 
of g(3). 

y -/o 



Day 3 Linear Functions and Direct Variation  
Recall that a relation is a function If no_two ordered Pairs 
have the same first element. We can test for a function 
using the vertical line test. 	- - 	• • 

Definition: 
A function f is said to be one-to-one or (1-1) if no two 
ordered pairs have the same second element. 

Write down 4 readable points, is this set of 
ordered pairs one-to-one? 

Can you thins Of O WRY, to  decide If 131.function 
is 1.1 just by lookIng.at.the.grapta. 

. 	 . 

HORIZONTAL LINE•EST • 

iimmo
_ = — 

Direct Variation 
When the ratio of two variables is a constant, we say that 
the variables are directly proportional or that the variables 
vary -directly. Every -direct variation of two variables is a 
linear function that 'Is 

ex. Jacob can type 55 words per minute. 

0. Write n function that shows the relationship between the number of words 
typed. w, and the number of minutes spent typing, in. 

b. It the function one-to-one? 

v. If Jacob types for no more 111011 2 hours al 0 time, what are the domain and 
range of the function? 

a. "Words per minute" can he written as 	•, = 55;110s is n direct 
variation function That can be written as Km. w): = 55ml. 

b. The function is 0 linear function and every linear function is one-to-one. 

v. If Jacob types no more limn 2 hours. thnt Is, 12(1 minutes, nt n Ihne. the 
domain is 0 e■ m s 120 and the range Is U s w s 6.600. 

	 a.* 
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Oct 14-9:58 AM 

Determine if each of the following functions is one-to-one. 

n. y = 4 – 3x 	b. y = x2 	c. y = + 31 

Oct 14-10:48 AM 

Oct 14-11:08 AM 



Types of FunctIong 
smarm.,  emotion 

y = a, WIN €1 A f[1191.11t 

y • 5 

y 	 aa.. t with a. b. anal 
someone. and J O. 

Comply, - 	 . 

The range. 11 ,7 set of r031 
nTIMMY 	 • 1. 
The Mir ten ta not mt. 

The nose the Mt of ad 

Thu 	
ro .1. 

The Om.en o nu ant. 

Squats floarlarielleri=1 

5.rattit ea 	 • so O. 
• The domain to lira Set or real numb.. /Pm or than Or equal to 
• TM ramie is NO tat of noranegatroe real number..  
ivempla, 

This o • lunation room the auolooneragame nal 
umber, to C. got of noranogaino real nunraen. 

Tea huge is too.., Of non•nogotive real 11.1.PPS  

Tno fent.. o MM. 

Oct 15-11:40 AM 

Limper ...tine 

y 	 n. on. In end 6 .115.1, 

1.166.6•),  - 	 ∎  ) 

ay 3 linear function.notebook 	 Ady 07, 2010 
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Day 3 Gasswor 

1) 

2) 

If f(x) = 4x °  + 	what is the value of 
f(4)? 

If f(x) = x -x x°  + 2'), then f(3) is equal to 

3) What is the domain of the function 
3 x 2 

f (x) = 	— 49 

1  
f(x)— 	the domain of f(x) is 

5 Which equation does not represent a 
function? 

[A] y = x 2  + 5x 	[B] x = if 

[C] y = Ix' 	[D] y = 4 

3' -1 3 
1 



Oct 21-9:03 AM 

Are .f and g functions? 

f 

.Emaluateh.g;. 

hits riéi first?? 

g 	f 
3 — 0 — 5 
4 — 1 — 6 
5 _ 2 — 7 

Day 4 Composition of Functions 

Composite Function  - is the combining of two 
functions f and g, to produce a new function 
symbolized fog, 

• g is read "f following g." 

f(g(x)) 

Oct 22-8:43 AM 

In order for the composite function f* g to exist, each 
member of the range of g must be a member of the 
domain off. 

Oct 22-9:00 AM I (I 



Find .  

) f g (1) 

11.)1? f (3) 

). g(f(-2)) 

Oct 22-9:03 AM 
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Name: 
Day 4 CW/HW 

1) 	If f(x) = x - 3 and g(x) = x 3 , then Kg(3)) is 
A) 24 	 C) 0 
B) 30 	 D) 6 

2) 	If Kx) = 2x and g(x) = x - 4, what is the value of 
Kg(3))? 
A) -6 	 C) 6 
B) -2 	 D) 2 

3) 	If f(x) = 2x and g(x) = x - 4, what is the value of 
g(g3))? 

A) 2 	 C) -6 
B) 6 	 D) -2 

4) 	If g(x) = x + 3 and f(x) = x 2  - 2, find the value of 
gg(-3))• 

5) 	If f(x) = x - 3 and g(x) = x 2, what is the value of 
(f o g)(2)? 

6) 	If 1(x) = 3x - 1 and g(x) = x 2  + 1, evaluate 
(g o f)(-1).  

	

7) 	If f(x) = 3x and g(x) = 7x - 1, what is (f o g)(4)? 

	

8) 	If g(x) = x + 3 and f(x) = x 2  - 2, find the value of 
g(g- 1)). 

	

9) 	If g(x) = x + 3 and Kx) = x2  - 2, find the value of 
4(3)). 

10) If g(x) = x + 3 and f(x) = x2  - 2, find the value of 
g(f(3)). 

11) If f(x) = 3x 2  and g(x) =12X, what is the value of 
(f 0 g)(8)? 

A) 144 	 C) 48 
B) 16 	 D) 8I 

12) If g(x) = x - 31 and h(x) = x 2  + 2x, what is the 
value of h(g(2.9))? 
A) -0.99 	 C) 0.99 
B) 0.21 	 D) -0.21 

- (C 



Day 5 Inverse Functions 

f -1 W the Inverse of f under composition 

f:x 	y f-1: y 	x 

ex. f 	((1,6) (2,7) (3,0)) find f -1 

ex. g = ((4,8) (5,8) (6,9) find g -1 

find f-I ((6,1) (7, 2) (0,3)) 

find 9-1. ((8,4) (5,8) (9,6)) 

Is f a function? Is f -la function? 

Is g a function? Is g-1 a function? 

How can we tell if a function's inverse is going to be a function? 

ex. ((1,6) (2,7) (3,0)) 

ex. g ((4,8) (5,8) (6,9) 

Day 5 inverse.notebook 	 July 07, 2010 

Oct 25-9:20 PM 

Oct 25-9:31 PM 

Ways to f Ind the Inverse: 
1.ordered pairs- switch x Q y 
h(x) c (14,32) (-21, 18) (49, 0) 

	
h-1(x) 

2. coordinate graph-switch x 6y and plot new points 

 

 

 

 

   

Oct 25-9:43 PM 

 

s-17 
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Oct 26-8:36 AM 

Oct 25-9:55 PM 

Oct 25-10:00 PM 

Find the Inverse of the following: 
f(x) = -3x + 5 	g(x) = lx + 10 	h(x): x + 

3 	 7 

Graph y = 2x • I and Its Inverse 

x y 
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Let f(x) = Rx. The graph of g(x) IR the graph of f shifted 4 units down and 
6 units to the right.Writc an expression for g(x). And find pl(x). 

Oct 26-8:45 AM 



x B) 

1) 	Which function is not one to one? 
Y 

Y 

Y 

C) .4 	 

2) 	Given: set A = {(1,2), (2,3), (3,4), (4,5)} 

If the inverse of the set is A -1  , which statement is 
true? 

A) A and A' I are not functions. 
B) A and A -1  are functions. 
C) A is not a function and A -1  is a function. 
D) A is a function and A -1  is not a function. 

2609 - 1 - Page 1 
Name: 
Day 5 CW/HW 

	

3) 	Which equation defines a function whose inverse is 
not a function? 
A) y= lx1 	 C) y = -x 

B) y = 2x 	 D) y=3x+2 

	

4) 	What is the inverse of the equationy = 3x - 2? 

A) y=3x+2 	C) y = 
x
-3-

2 
 

B) y = x 	 D) y = 2x - 3 

	

5) 	What is the inverse of the equationy = 3x? 

	

6) 	What is the inverse of the functiony = 2x - 5? 

A) y= 2x + 5 	C) y =
I 
 (x + 5) 

B) y = 5 - 2x 	D) y = 2(x - 5) 

	

7) 	The inverse function of {(2,6), (-3,4), (7,-5)} is 
A) {(2,-6), (-3,-4), (7,5)) 
B) {(6,2), (4,-3), (-5,7)) 
C) {(-2,6), (3,4), (-7,-5)) 
D) {(-6,-2), (-4,3), (5,7)) 

C) y = 3 

D) x = 3 



2609 - 1 - Page 2 

	

8) 	If (-3, 1) is in the function 1(x), which of the 

following points will be in the function f 1 (x)? 

A) (-1,3) 	 C) (1,-3) 
B) (3,-1) 	 D) (3,1) 

	

9) 	The inverse of the functiony = x 2  + 9, x 0 is 

A) y= 
	

C) y= -\/E 9 

B) y=±Ix+9 
	

D) y= 

10) Write the inverse of the given function: 

{(a,b), (c,d), (e,f), (g,h)} 

11) Find t 1 , the inverse of the given function: 

f(x) = {(8,2), (1,7), (4,3), (5,1)} 

16) The graph of any function and the graph of its 
inverse are symmetric with respect to the 

A) graph of the equation y = -x 
B) graph of the equationy = x 
C) y-axis 
D) x-axis 

Questions 12 through 15 refer to the following: 

For the given relation(s), 
(a) state the inverse. 
(b) state whether or not the inverse is a function. 

[Justify your answer.] 

17) Given the functionf(x) = {(3,1), (2,6), (-3,5)1. Find 

f-1 , the inverse of function f 

18) Write the inverse of the given function: 

{(5,3), (-2,4), (7,-2)) 

12) 	{(3,2), (4,3), (5,8), (6,-1)) 



YA 

X 
1 2 3 4  5 

_J. 

-r 
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Name: 
Review for Function Test 

1) 	Which graph illustrates a quadratic relation whose 
domain is all real numbers? 

( 14  

	

2) 	The function fix) = x - 3 is defined for all real 

numbers except when x is 

A) -3 	 C) 3 

B) 0 	 D) - 

	

3) 	Given the real valued function f(x) = 	which 

number is in the domain of f(x)? 

A) -1 	 C) 2 
B) 7 	 D) 3 

	

4) 	The domain of f(x)= x 2  + 2x + 1 is -3 5 x 5  3. 
The largest value in the range of f(x) is  

5) For which value of x is the function 

g(x) - 
2x2 + 3x +1 

 x -1 	undefined? 

6) Given the function g(x) = 3x - 3 with a domain of 
{xl -2 5 x s 4} , find the range. 

7) For the graph of the relation below, 
(a) state the domain. 
(b) state the range. 
(c) state whether or not the relation is a function. 

[Justify your answer.] 

YI 

A) 

A) 20 
B) 4 

C) 16 
D) 3 



8) 	For the graph of the relation below, 
(a) state the domain. 
(b) state the range. 
(c) state whether or not the relation is a function. 

[Justify your answer.] 

9) 	For the graph of the relation below, 
(a) state the domain. 
(b) state the range. 
(c) state whether or not the relation is a function. 

[Justify your answer.] 

7944 - 1 - Page 2 

10) Which graph of a relation is also a function? 

11) Which graph of a relation is also a function? 

D) all of the above 

2.3 



13) The relation defined by the set of ordered pairs 
{(0,2), (-2,2), (1,4), (0,-1)} is not a function. 
Which of the ordered pairs listed below, if omitted 
from this relation, will make the resulting set a 
fimction. 

A) (1,4) 	 C) (-2,2) 
B) (0,-1) 	 D) (4,1) 

A) -1 
	

C) -2 
B) 2 
	

D) 1 

15) Given the function gx) = (x + 1)2 , find the value of 
g-2). 

16) Given the function gx) = 3x - 2, find the value 
off(-1). 

17) If gx) = x 2  + 3x - 5, find the value of f(3). 

18) If g(x) = jc and h(x) = x 3  - 1, what is g(h(4))? 

A) 5 	 C) J63 
B) 11 	 D) 7 

19) If f(x) = 2x and g(x) = x - 4, what is the value of 
gg(3))? 

A) 6 	 C) -2 
B) 2 	 D) -6 

20) If gx) = 5 - 2x and g(x) = 	- 3 I , what is the 
value of gg(3))? 

A) -1 	 C) 5 
B) 7 	 D) 1 

12) Which graph of a relation is not a function? 

7944 - 1 - Page 3 

14) If the graph below is the graph ofy = gx) what is 
the value of f(1)? 



21) If g(x) = I x - 31 and h(x) = x 2  + 2x, what the 
value of h(g(1.4))? 
A) 6.40 	 C) 5.76 
B) 0.46 	 D) -0.46 

22) Which function is not one to one? 
Y 

C) 

D) 

7944 - 1 - Page 4 
23) What is the inverse of the equationy = 3x + 2? 

1 	2 
A) x=jy+j 	C) x=3y+2 

B) y = jx - 2 	D) 3y = x + 2 

24) What is the inverse of the fianctionx + 2y + 3 = 0? 
A) 2x - y + 3 = 0 
B) y = -2x - 3 
C) 2y+x+3=0 

1 	3 
D) y = --ic - 

25) The inverse function of {(2,6), (-3,4), (7,-5)} is 
A) {(6,2), (4,-3), (-5,7)} 
B) {(2,-6), (-3,-4), (7,5)) 
C) {(-6,-2), (-4,3), (5,7)) 
D) {(-2,6), (3,4), (-7,-5)} 
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